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N Trapezoid Area = % -h
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Example Coordinates:
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Trapezoid 1 :(Nl—N2)~E1;E2 g (25—9)-20;32 = 416
Trapezoid 2 =(N2—N3)-E2;E3 = (9-3) -32;24 = 168
Trapezoid 3 = (N, — N, ). =3+ = (19—3)-24;12 = 288
Trapezoid 4 :(Nl—N4)~E4+E1 :(25—19)-12;20 = 96
The Polygon Area = [416]+[168] -[288]-[96] = 200 or algebraically...
{(N1_N2)'ﬂ}+|:(l\lz_Ns)'ﬂ}_{(l\u_l\b)'E3+E4}_{(N1_N4)'E4+El}
2 2 2 2
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E'[(Nl_Nz)'(El"'Ez)"'(Nz_Ns)'(Ez+E3)+(N3_N4)'(E3+E4)+(N4_Nl)'(E4+E1)]
+N,-E, +N,-E, -N,-E, -N,-E, +N,-E, —-N,-E
1 |+N,-E, +N,-E, —-N;-E, -N,-E,| 1 |[+N,-E; —-N,-E,|
2 |+N,-E, +N,-E, -N,-E, —=N,-E,[ 2 |+N,-E, —N,-E,[
+N,-E, +N,-E, —-N,-E, —N,-E +N,-E, -N,-E,
%'[(25-32)—(9~2o)+(9~24)—(3-32)+(3-12)—(19~24)+(19~20)—(25.12)]=

6204120 —-420+80
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